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Z The function f (x) = [x] — [x7] (where, [x] 1s the greatest wﬂa
integer less than or equal to x), 1s discontinuous at
(e
(a) all integers (1999, 2M) —

(b) all integers except 0 and 1 —

(c) all integers except 0 . \\J
Jﬁ,\‘eﬂ integers except 1 .
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sin(p+1)x+sinx
. x <0 L'WY\ = L'H'\=+@
I f(x) = q, x=0 ‘\‘(0'\ +
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1s continuous at x=0, then the ordered pair (p, g) is

equal to (2019 Main, 10 April 1)
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Let f:[-1,3] — R be defined as

lxl+ [x], -1=x<]

—

x ( Neo. o PeinX

' d':s(.-u"\-kiﬂm
f)=4 x+|xl, 1<x<2 \us)

ot [x], 2=x23, (2019 Main, 8 April II)

where, [t] denotes the greatest integer|less than or

[
equal to t. Then, f is discontinuous at (ﬂfﬁe‘“c”

(a) four or more points (b) only two points
W Only three points (d) only one point 6
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of x, at which the function,
differentiable, 1s

et f(x)=15 - |I— 10 | : x = R. Then, the set of all values
gx) = f(f(x)) 1s

not
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(2019 Main, 9 April 1)
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(a) 15,10, 15, 20} 15,10, 15)
(c) {10} (d) {10, 15} o
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et S be the set of all points in (- w, t) at which the

1} L] L] T " ‘ L] ara L]
function, f(x)=min {sin x, cosx} 1s not differentiable.
Then, S is a subset of which of the following?
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'E' ,_] L —25x<0 4
UIO=12 1 og<x<2 ™
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gx)=|f(x) |+ f(|x]|). Then, in the interval (-2,2), gis 1
—_ (2019 Main, 11 Jan )
(y)/nr::t differentiable at one point a2 .
pp . . - -2 < H¢eO
(b) not differentiable at two points ) = e < AL
(c) differentiable at all points 0 0L Re )
(d) not continuous ' Q- | £ x <2
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